Quiz break

Which one of the following is NOT true about perceptron?

A. Perceptron only works if the data is linearly separable.
B. Perceptron can learn AND function

C. Perceptron can learn XOR function
D. Perceptron is a supervised learning algorithm
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Quiz break

Which one of the following is NOT true?

A. LeNet has two convolutional layers

B. The first convolutional layer in LeNet has 5x5x6x3 parameters, in case of RGB input
C. Pooling is performed right after convolution

D. Pooling layer does not have learnable parameters
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A. LeNet has two convolutional layers

B. The first convolutional layer in LeNet has 5x5x6x3 parameters, in case of RGB input
C. Pooling is performed right after convolution

D. Pooling layer does not have learnable parameters

Pooling is performed after RelLLU: conv->relu->pooling



